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. Who is the father of C language?
(a) Bjarne Stroustrup

(b) James A-Gosling

(c) Dennis Ritchie

(d) None.

. Which one of the following is not a reserved key word for C?
(a) auto

(b) case

(c) main

(d) default.

. Which of the following is not a correct variable type?
(a) float

(b) real

(c) int

(d) double

. High level language is a-

(a) Human readable like language.

(b) Language with small program size

(c) Language with big program size

(d) Language which is difficult to understand and not human readable.

. Which type of programming language does C represent?
(a) object oriented

(b) procedural

(c) Bit level language

(d) Functional

. BCPL language is also called-
(a) C language

(b) B language

(c) D language

(d) None.



7. Which is correct syntax for LaTex Table
(a) \begin{tables}
(b) \start{tabular}
(c) \open{table}
(d) \begin{tabular}

8. A C-variable cannot start with —
(a) A number
(b) A special character
(c) Both of the above
(d) An alphabet

9. Which of the following is not possible with any two operators in C?
(a) Different precedence, same associativity
(b) Different precedence, different associativity
(c) Same precedence, different associativity
(d) All of the mentioned

10. How do we align an equation in LaTeX
(a) &*
(b) >*
(c) %*
(d) @*

11. LaTeX is essentially a
(a) Markup
(b) Highlighted
(c) Object oriented
(d) Simple

12. Correct syntax for inline formula is
(a) $f(x)=x"2$
(b) {f(x)=x"2}
(c) [f(x)=x"2]
(d) (f(x)=x"2)

13. Which of the following is not possible statically in C language?
(a) Jagged Array
(b) Rectangular Array
(¢) Cuboidal Array
(d) Multidimensional Array

14. Which of the following return-type cannot be used for a function in C?
(a) char *
(b) struct
(c) void
(d) none of the mentioned
15. Which statement causes the loop to be terminated?

(a) exit

(b) break
(c) default
(d) continue.



16. What is #include <stdio.h>?
(a) Preprocessor directive
(b) Inclusion directive
(c) File inclusion directive
(d) None of the mentioned

17. What will be the output of the following C code?
int main()
{
int y=10000;
int y=34;
printf(“Hello World! %d\n”,y);
return O;

}

(a) Hello World!34

(b) Compile time error

(c) Hello World!1000

(d) Hello World! followed by a junk value

18. What will be the output of the following C code on a 64 bit machine?
#include <stdio.h>
union Sti
{
int nu;
char m;
7
int main ()
{
union Sti s;
printf ("%d", sizeof(s)):;
0;
}

(a) 8
(®) 5

(c) 9
(d) 4

19. ALU stands for —
(a) Array Logic Unit
(b) Application Logic Unit
(c) Arithmetic Logic Unit
(d) None.

20. Which keyword is used to prevent any changes in the variable within a C program?
(a) immutable
(b) mutable
(C) const
(d)

d) volatile
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(a) char *
(b) struct
(c) void
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(a) exit

(b) break
(c) default
(d) continue
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int main()

{

Int y=10000;

Int y=34;

printf(“Hello World! %d\n”,y);
return 0;

}

(a) Hello World!34

(b) Compile time error

(c) Hello World!1000

(d) Hello World! followed by a junk value
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#include <stdio.h>

union Sti

{
int nu;
char m;

}i

int main ()

{
union Sti s;
printf ("%d", sizeof(s)):
return 0;

}

(a) 8
(b) 5
(c) 9
(d) 4
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(a) Array Logic Unit
(b) Application Logic Unit
(c) Arithmetic Logic Unit
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a) immutable

b
c
d

mutable
const
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volatile




